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1 The girlreading on the bench lives next to us.
026 03®@ 04®@ 05were —was 06 Knowing[To
know] 07@ 08®

—

Z0{ The girlo| Sixi2AITe| S "lo} ZOojZI 2Fo|ct,

Oj2 AM| 2R0|22 AHE LiEHE RAEE LoX| L

3 @ somethingo| 2=0{o|tf to drink= somethingg 1o
= toRTAL| A giolct

4 = 38 2oz RARIF 250] a bookS 4ABICE Lt
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Chapter 02 | to 5 A}

Unit 02 | p. 13
1.3 7P IR[Z AE] 2. CHE ARISE Olsllste A&
3. 80 MM 4.0 22

B 1.howtoride 2.whattodo  3.whento visit

(©)

D 1.totellalie  2.nofriendtotalkto
3. the kitchen to wash the dishes

A

A_ 1, 4.t00 +HEMEBA+ORHAL : LI ~5HM -8 4=

C_

D_

AR 8% : decided ol 2x0]
BAX 88 239| F0f

BAE 89 sado| ol

. S2AE 28 1 to drink 7t something 2 44!

Mon oo

what to do : R4S &ix|
where to buy : o{C|A &K
when to visit : o] Z2&X|
how to ride : {E7| Ek=X|
expect+to2EA: ~& A2 7|cisict
1.to tell alie7t TIFO{Z MQI HAPS S
2.totalk to7tfriend & #0 F= HEAN 84
3.towash the dishese 222 LiElLi= 2AIA 84
Unit 03 | p. 15

A 1.too 2.enough 3.enough  4.too

B 1.smallenough  2.toosmall  3.seemsto fix

C 1.tosleepy — too sleepy 2. enough good —
good enough  3.seemed be —seemed to be

D®

rr

o
o

2, 3. YEMEA+enough toBHA} : ~8t 02 ZHF| -
1. ¥EAt= enough ol $IxI
2. H8Ak=too2tto Afojofl x|
3. seem +to 2 ™At : ~aff 2oICt
i

1.t00 ~t0 ... : LR ~aliA] & & Gl
2. enoughi= AR FlollAd 4]

3. seemed +toEEAL: ~aH 2L
Six 2 7E ~21 24 2k 2] ojojo|ct,

She seems to be ~. = It seems that she is ~.



B_ 1. toRHAle| ojnj4e| Foje for +5%2,02 #rt,
2. wise Foil= to 2] olnjAe] 012 Tof +2X{,0] 2Lt
3. toR™AIl 2™ to Yol noto|Lt neverS £QICt
4. toRHALL| o|njAtel 017t BRO| SX0{9t UX[GHH A2t
5. to 2Tt ojojAel 047t BEfO| =01t UR[GHH A2t
C_ 1. careless(®x2fsh Foil= Tof + 552,28 £t
2. to ™ALL 2njate] Foj= for +2%7 o= LIEHTE
D_ 1,2 toRFAe| ojojae| Foj=to oil 2ct,
3. toR™AI| 2™ to Yol noto|Lt neverS £QICt
4. to be frank with you : £%I5| LshM (SERIE™AD

Unit 04 | p. 17

A 1.go[going] 2.know  3.tocall 4.touch
[touching] 5. (to) carry

B 1. watched them do[doing] 2. told me to get
back  3.lethimtravel 4. helpyou (to) find

B-11. makeuslaugh  2.seetheaccident happen
[happening]

ca@

D 1. advised hertoread 2. him buy the[a] bicycle
3. heard little birds sing[singing]

1, 4. XIZiSAKhear, feel)+ S0+ AL HASIHEAN

2. AiESAHlet)+ 2X0|+ HSEHAL

3. want+Z%0{+to 2 ™A

5. help +2X0{+to RHAH RISEHAL

1. XIZtSAKwatch)+SX0f + S A STHEAN

2. tell+=2=0{+to B™A

3. AlSAKlet)+SH0{+ A2 HAL

4. help +SX0] +to YA AHEHAN

want+Z%0{+to 2™/ L L7H 28t 248 SERIL, OfLIH L7t

7 ChA| el =2 2ist?

1. advise +2X0{+to2HAL: ~0flA --5t2tm S1stct

2. NiHSAHlet) +SHO|+ HYE™AL: ~T} -5

3. XIZtSAKhear) + S0+ AY2HAHSIHEZAL : ~7} --5l= 2
Ect

R T p. 20
01@ 02@ 03 @ 04 too, for, to buy
05 It seemed that 06 ® 07 @ 08 ® 09 wanted
me not to play 10 makes people make bad choices
11 to wear what — what to wear 12 knowing —
know 13 nottobuy 14 ® 15 (A) to give (B) use
(© todamage 16Q 17® 18 @ 19 toodifficultto
understand 20 @

21 (1) to eat the food on the table

(2) me not to watch TV too much

(3) me do my homework

(4) me to take care of my brother

(5) me to go to bed early

22 (1) my younger brother to wash her car (2) he is
old enough to do it (3) seems to think he is too
young to wash the car (4) for him to wash the car
and he doesn’t know what to do

Unit 05 | p- 19 1 &7l & 2175 0l2ks 0| Zlofof 522 XA with(~2F ShH)
£ =55f to play withE Mo} sttt

2 difficult® 2ol tos™Alel ojnjAel Fol= for+2%2 02
LIERHEY,

A 1.of me 2. of him 3.forher  4.forthem
B 1.forachild 2.ofhim  3.nevertogo

4.you 5.2ER ] i
3 not to mention: ~2 &t Z= o]

4 so+ZHEARA+that+F0{+can’tlcouldn’t]+SAHES
= to0 +EEMEA+(for +2MZ Hto BFAL

5 Tseem[seemedl+toRHALE Mt seems[seemed] that+
F0{+SALE HIO £ 4 Tt

6 Aol Mol B=E L= @8AL Foll= fof +2x7,02
oS 2o|&e| OIS LIEHHLY,

7 wants SHARHOZ toRHAIE AT, XZSALE MHSAE 5

HAHO 2 HYRYAME 20

B-1 notto puton

C1.@ 20

D 1. of himto say so 2. of youto help me
3.decided nottowait 4. To be frank with you

toE™Atel olojate| F0{= to ol Tfor+ 32Xz, o= M1
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to knowE many thingsE 1 F= AN 24

'want+580{+to2=ALL| FEIZ, toRH™Alel 2F2 to ol
nots #£ct
PSS AH SR+ SHAL|(HHEHAD, Q| ol
o|2At+to ™AL S| O
let +SX0| + FHEHAL 1 ~7t - BH=2 St

toEEAtel BM2 to 0l notS 2Lt
seem+to S ™AL ~5ff EolCt
(A) "decide+to2HAL, (B) Tet+2=0+2a28AL (O
'want+=S%0+to £8AL
'enough +BA+to S -AL, "E8At+enough +to 2 ™AL
sHAY | A2 ATt LIH 29I sHOF sk=X| Ok=71? ChSol Atz
Ol FO{E! MR[Q| 2T 2AI7F? 270l chel Mzbei=n A
a9 MIE XM2lets Z1M9| Wg Fotetat
TAIE Hol= GES sk S8AE e toR™APIL E0{710F
it

3ilAl | Zeuse Callisto2t AtZholl WS o= & 7} et &
A AUS wf, J= 19| okl Hera7t 2 XS "Lt Zeuss 1
L7t Callistozts HE HeraZt & 4 QI=2 JHE 2 822
5| FHCE

sawe= X[ZESA0|122

S|

EXNZAHO= YSE

=Pb HA come E= SR
£\t comingo|
20| 4 | Li= L2 O HAIE/0ll ol Zdofl e oftollA| 2

AL} L= e ol&2 Ofalistz jofl LR oot Mzigict a2

L Wt 25 2 olg AFS2 R0l aS2 W2t olsiskz ol S
25| #I%Ch E8t RS2 MOIUANUCE OlH| L= ofl0] f2| FH
9| offHt Ao ZRHEX| UHSOE 4 UCt Zipict,

"too +BSAMEA+toRFEALE HS ~aliA & 4 gi="olzt

= & LIEfHC)

toRHAe| ojoj4e| Fof= Mfor+=X7 02 LIEHHCE

shAl | 22| Hoks L ZSMolA otel X Hotetn st

ot= Sd0| MIXIE 7|0l S&35| Lio|7t SRIctn Mzkstct T2

Lt W HSMS AAZTE MIXIE S7[9 HF of2[ctn Mztsk= £

HOICE = RIE He A0 XRAofA| LR BlE o2t ofHA £
%2 sjor 2tx| BEiCkn Vit

=3 )

wige [z i

sihel 2xg 25 e 58

el 252 e 48

Fhel 252 e 3

Feeney e e 2H

170 B2 2+dgh 13
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2 2F7H 313, 5%

2 FTHIH US. 48

Accuracy YO 2F7F 274 UB. 3

2 2771374 JUS. 23

EHAC| BT ATH 014 US. 0H

2. winning?| 2joj& F0i= 289| 02! Weo|ct,
3. passing?l 2joj4 F0{= herolct,
4. playing@| o|noj4 F0i= Billolct.
5. being2| ojoj4 F01= Maryo|ct,

|99 Wiy AR i
1 o HAIE B3 282 27 0N & 4%
|

! Fluency tFYANE S8 2HE N & 23
; 20| SY=IR iUt EE MxI RE 0z
| 280|Lt Exte] 287t 0~H /UL, pEs
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unitos | Practice Test p. 25

|

! A1LO 2@

|

\ A-10Q

|

| B 1.eating  2.saying 3. helping

|

| C 1. Walking alone at night

|

! 2. him not being honest

| =

! D 1. L= T7t LIS F6iE Z4S Doplgict

2. 2= 1 4710fl 0121 20| REZAZCY,

| 3. L= a7t A&l &4t Zdofl =Rict

|

! 4. JE2 Bill0] 8ol =AIK| o= ZE A0{Sict

|

! 5. Mary7t =2 20| 22|12 sHt7| Hct,

|

|
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| A_ 1. SIS 20| 50| IS B 4 2w, ol Ko} YUsioly
| 2 2SIt

| 2. STAE FHIMS] 20| S 51, LHO= SHA HE2 Yol
|

‘ st

|

. B_ 1~3. 5"At Hx|At before, without, forel £x{0i2 Mict
|

| C_ 1. ST 07k E 4 U SAI0) 240178 H2 4 Utk

| 2. S3ALo| BHS S3A HIZ Yol £70] not[never]g 02
! 2 him not being honest= #ct.
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' D_ 1.saving®| 2joj¥ Foji= 22| Sxofel himo|ct,
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Unit 07 | p. 27 R T p. 30

01® 02totalk —talking 03 keeping —to keep
04@ 05 could not help crying %= could not but
cry 06 not wearing uniforms 07@® 08@ 09®@
106 1Mtocall 12@ 13® —skiing 14 (A) my
(B) smoking 15@  1étalking,totalk 17®@
18 having —to have 19having 20@

21 (1) forward to (2) help playing
(3) busy (4) spent (s5) like (6) promised, to play

A 1.seeing  2.totalk  3.asking
A-1 to avoid, eating

B1.® 20O 3@

c1.® 2@ 3.0 40
D1.O® 20

A 1.remember+SYAl: ~3iE 22
2. stop +to ™AL ~5t7| fsh BECH
3. regret+STA}L: ~3iH S F3l5HCH
B_ 1.stop+toR&At: ~517| st BZCt
stop+3TAt: ~al= A HEC
2. try +toSAL: ~5l2{ 1 OfAALCt
try +SBAE: AR a0t ~sH=Ct
3. forget +toREAL: ~E S
forget+SHAL: ~3iEH ZiS
C_ 1, 3. decide, hopeE toRHAIZ 2X0{2 F|3iCt.
2. enjoy= SYAIS BX0i= Fsict
4. hate= SYAIRHOEHA S TS 2X{0Z sttt
D_ 1,2 ‘Yoz ~& 28 9ct k= 2jnjo|=22 forget +to BHAL

22 (1) Andrew feels like flying a kite. (2) Kelly loves
solving[to solveldifficult problems. (3) Cathy

0 o

regrets wearing a miniskirt. (4) Kevin can’t help
visiting the dentist. (5) Tom hopes to collect old
records, too.

n2

ct

pis
iul

SHAIL| Qnjde] F0l= ARZAO|LE SHAS 20t

1
2 stop+-ing : ~5i= g OotECt HEC

3 722 |XIE A 7|Ystak= =0l22 Temember +toREAL
4

5

hope& toR2HAIE SX01= Fsich
cannot help+-ing(= cannot but+SAIS): ~5ix| g

220t
= Slck
6 STAE BEEY 1= Mot +SHALE 2Ct
7 "want+to2HAL, stopping — to stop
8 @sleeping2 babyE FH F= SRHAL LIHA= SHA
Q9 try+toRMAL: ~512{1 oML} =25IC
10 stop+-ing : ~5l= g ©&Ct / cannot help+-ing : ~&t
X| 42 4 lct
1T WY HMelsh |2 7|25k 20l22 remember+to AL,
12 Itis no use -ing = It is useless +toR&A} : ~sli= AT}
13 enjoy+-ing : ~8i712 &7Ict
14 (A) Ui24 my7t Lot STAL| ojnjAe| Fof= ARZOLL 2
HMAS 20t (B) SHsich= Ho|22 stop +-ing
Unit 08 | p. 29 15 @ to cry — crying @ to do — doing @ read —
A1.O reading ® to cry — crying
B 1.surfing  2.togoing 16 enjoy_/+%2§kt .hope+to$§;)\} ) ]
co 17 2= 2 watching2 Fof Jst2 st= SHAOICE @= ZIdg

LiEt= SitAtolCt,

18 &AM | =EoF 27l 22WS 2w UACE SHEIoj= Eoil Sote
Zoi| xpMel HRES I ZMACE L = E2 A
aliid 4~ QIUCE Mol 2= 71=a 2l oot [3Hct
decide= toRHAE SX012 Fsh= SAtOICE

2

19~20] s | nS&tns o5t =2
7

D 1. worthtrying 2. helpthinking 3. use asking

rir

N

A_ ‘beworth-ing : ~& 7Ix|7} /Lt 0|22 to visit — visiting
B 1.spend+AlZH+-ing : ~5H= O] AlZkS MLt
2.look forward to -ing : ~k= 22 7|chaict
C_ ‘'be busy-ing : ~5t=2} Bi#LC} 0|22 to prepare —
preparing
D 1.beworth-ing: ~& 7{x|7} UCt
2. can’t help -ing : ~3x| 942 4= gict
3.Itisno use -ing : ~sli= A2t

1

2 S .
3. Cidet oM SAL 2SS izt
4 =

5



19 FRIAL of2l 2xojo|22 SHAR! havingo| Lot
20 @ o7|M company= 217, E& 2f= on|2 MCt

N )
21 %1g9 W 71E HiE
6712 2EE SHIE HHE MM 25 2Hdg! 6%
571 2ES SHIE BES MAf 2HMEL 53
4710| BEES SHIE BHS MA 2HME! 43
Accuracy — —
3Ho| BEE SHIE HEE MA 2HEEL 33
2710 2HE SHIZ BHS MA 28 -
171e] 2HS SHIE BHS MA] 2H48 13
SHIE H3I12 WA 28 220| g3, 0™
22 EtE9 M 7|1= HE
5712 2EE 25 2tdE, 53
4719 B2ES gt 44
3700 2EE 24T 3H
Fluency _
27He| 22 RHdEl 28
17He] 2%S HEL 13
25t 230 2. [oFs}
SHAC 2RI US. 53
YO BIH~2H UB. 43
Accuracy YO 2F7F 37 JUS. 3H
ZEA 2RI US. 15
=l 227571 ol UB. 0d
Chapter 04 | 2A}
Unit 09 | p. 35

A®

B 1. Turning around 2. keeping her championship
title  3.Because[As]he ate too much

B-1 Being late

C 1. Picking 2. listening to 3. Coming to the
party

D 1. Having seen the movie before, 70l 1 &2t= 2 =0
QojA  2.reading abook, S A
3. Admitting that you are right, W7t £tt= 22 QIgst
X2t

As[Because] he worked too hardE EAIFEOZ HIE 2%

olctk.

1, 2. AR BHS7| : AL M2F — FH0| R0t 22 Fole
2ol CHE F0i= 02 ECH— SALS SXHRALR HRRC

3. BAFEZ HH17 | 200| SH= TSAHEY | — 2Ale| Fo7t glg ER
ZEIO| F0IE M= M7 | — SIRHEAIS ANl A SAIR B |

FATZOAM= 2AE HEAIRE SAte] Ets SAlo SiCk

1. After she picked up the phone

2.as | listened to the radio

3. Ifyou come to the party

BAES 0IR, AlZE S, 22, SAISE, H432 82| 2n|E Lt

EtHC 1. OlF 2. SAISE 3. & 4. 0l7

Unit 10 p.37
A 1. Not listening 2. Having been treated
3. Built
B®
C 1. Not having seen her
2. (Being) Excited about the news
3. As[Because]it was[had been] broken
4. When itis seen from a distance
C-1 not having seen him for years
D 1. o 3L oiZeh 2. #2 SOZ MKMM 3. SHIE
SIX| 0 4. HIE B2 ARRIS0IH| L2iM UX|= x|zt

. BAIEC| 282 2AF 0l notO|Lt neverE Lt

2. As she had been treated like a childE 2AF222 bt
 Zo|ct,

3. 53 EATR0IM Being2 Marst & Itk — As it was
built a yearago

olnlE HatsHA| 57| ok AlZte] E&Atwhileg E7 22 2AF

Folct,

1. BARLEC| B2 2AL o 23

2. 58 2EAE0M Being2 MaFst 4 Qlct,

3. AARALZ AIZSHE 2ARE22 ol Having beenolLt
Being0| M2l 2535 2AMLE0ICH

4. 2ALEC] 90| HES| 517 sl A Yol TEAE HHE 5
QdCt,

BAIES 0IR, AZE 2 X7, SAISE, H45% 59| on|E Lt

EfACH

1, 3. 2AFR2| LIE0| FRECE 0[Fof| Yoiit ZR0Ick

2. Being0| MztEl 53 EAE0|CE

4. L=0| oln|E FEks| of7| 2lah FLAIE H 52 FR0Ick

i

=Ch,



Unit 11 | p. 39

A 1.Frankly speaking 2.t being Monday
3.The elevator being out of order == As the
elevator was out of order
B®
C 1. Today beingaholiday 2. with his eyes closed
3. with her arms broken 4. Theriver being cold
D 1. Judging from 2.The night coming

3. with, running

A_ 1. &%5 LM : Frankly speaking

n
Jn o

—

he museumo|=22 2AL o itS M F:0{of i,

3. 5 20| T} 90| HUE 4 GO0 HANE VL AT
=

202 Hiot Bttt
B_ weather permitting2 "2M7t 223 0|2tz So|ct,

A2, SAL ol FOIE M =L,

2, 3. with+SX{o1+a7{2AL : EX0i2t SX{Z=0{0| A7t 5

D 1.judging from : ~2 mchsiH

2. 59| 0 we ot 2AFHQ| F0f the night7t Yx[5HX| gt

2 2AL 0] the nightE M ZLt (Z2 2ALE)
3. With+SZo+ETEAL : SX0{2f SXAR0O| BATL s&

R T p. 40
01 Opening the door 02® 03® 040
05 crossed 06® 07 )udging from 08 Generally
speaking 09 Having finished 10@ 11@ 12®,
® 13 (A)being (B) Feeling (C) Not being

14 (1) Finishing my science homework in the
morning (2) It being sunny (3) (While) Coming home
(4) (Being) Very tired

1 5 20| Fojet At ZO02 HUYLASARS +-ing)2 AR

Sh= BAMMECE LIEHACE

2 After he bought a new peng F&AIS H7|1 A
bR Zd0|ct,

3 Being[Having been]o| Aatel EAILZ0|C}

4 458 BAL20|22 Havingo| ol Being22 Aot it

N
Y BATE | FAFEC| FOI= HIQE F0{ ito] 1 FH| Fol=

1, 4. S8 SARE : 2ArHo| Zojet FHo| F0p7t YR/ 242

|
o=

‘with+SZ{0{+SxZ{=0{,01 M EX0{et EXZRQ| BA} -
0|22 SXAH0= IHEATH E/0{0F Bt

6 @ridden — riding @ Talked — Talking
@ brushing — brushed ® Seeing — Seen
7 judging from : ~2 HEtsIH (H|QIE £ 2AITSR)
8 generally speaking : LEHOZ 25 (HIQIE S7 2AITE)
Q9 AR AMPZE FEECH YM H2 EATES Having + 1712
ALi2] FEfo|ck,
10 @ BARLR0| 2 2ARD} 30| 07} 2 S8 2AFR0|22
ZAL A0l ItS AOF SiCE,
11T @ F=o| 24 AlFI0|22 2AFHS| SAtamE was:E X0 Sict
12 &l | o= &, op| SCHS0| siHoilM =1 U= SOt 252 =t
2 i & MS LML I Hi7E SZHA, 252 1 ol SISt
Ch 250| i floiM =1 U= S¢ Hi= HICk2 244t 282
7ol &t 252 SUch a5 olet oltt= E2 3 Lizdgt
Ct. 252 #EA 1 Hi2 32 siA ol SR
0|RE LIEMLI= T&EAIS 018510 M2 ®EIsI7LE TEAR 0
£ M2 SAFIY -ingE 21 EALEO=2 #rt
13 (0 2AR9| 232 241 Yol notineverlg £2Ict,
NEE] )
14 ZHed AR B
Hel BFS 2T st 48
3o 2EE 2t 3
Fluency 2l 2EE Rt 2F
1o 22 el 13
2 2H0| = (0]
2YiMo| 227t gle. 43
2HMC 227 US. 33
Accuracy ZHAO| Q271 27K S, 2%
YO 2773 US. 13
2ei0| 287t 471 01 . 0%




Chapter U5 | A|H|

Unit12 | p. 45

A 1. has worked 2. read 3. visited
B 1. has gone to 2.hasbeento 3. hasgone
C have used
D 1. haswon 2. has been fixing
3. hasbeenstudying 4. has been

A_ 1. ~O0MZ, 0|2 9| oJ0|Z LIEIlE= sincet BAFILE AN
2 0|1= 42, FEol= Sii= AlM7H2C
2, 3. 17E LiEt=E 2AF last month, two weeks ago7t
ASB 2 W AMIE 2Lt
B 1, 3.have goneto : ~0f 7} 2| ict (Zh
2. have been to : ~0fl 7t 2 Xo| Q/ct (HE)
C_ IP{=2E] SRHTIX| 7l ARRSIT U= 20|22 HRHRJAZZS MO} SiTt,
D_ 1.3 28 AERH SIS ZES LIEIHDE SAZE M
OF Stk
2, 3. 1A U AIFOIIM AlZfGH0 S0l = AlSE D Qs AEol2
2 SRiAZ TISAKIS MOF SiC,
4. 3| HEN SIRNTIK| Al =D o= SRH/AZE MOF SiCh

Unit13 | p. 47

A 1.had met 2. will have lived 3. had bought
4. had been

B®

C1.® 20

C-1®

D 1. had already started 2.had left
3. had never watched

A 1. Mz AL Holibefore) 2it 20|22 arites
Ao Bttt
2. |2 & AE(next yean 7| ASEl= 20122 0222 E M
of gict,
3. SESEME 2H0f F A0t 4 Z10] HX0|2 2 thatHE Mok
4. O 2H B AR O|HRE = OBteD R 122 E Mo BiTh
B_ =5t A2 apyioln 22 1 Mo @%ieo2 Thad +1H2AL
£ Mo} Bttt

ol

tCt,

r

D_

C_ 1. ™sfst7| olxoyl ojo] Extzlof E2222 Thad +2HEALE
A

==
2.2000E0IM 2005 E7HK| TkA U 7|2H SOt Moz AL

= gelo| pIRE Aot

aARCH O o|Me| U LIEt = Thad+TtARALSE A1,
alreadyLt never= had et 2AZAL ALO|of] 2204,
R T p. 48

01®@ 02Have, been 03have been swimming
04 had begun 05 will have beento 06® 07 @
08® 09® 10gone —been 11@ 12have
known 13 @ 14 have been playing 15 @
16 Have you (ever) been 17 have heard 18 Have
you ever wondered how the rides work? 19 @
20 hungry

21 gave, had given, am reading, will lend
22 (2) A : Had Sarah fed the dog? B : Yes, she had
fedit. (3) A :Had Sarah visited her grandparents?
B : No, she had not visited them. (4) A : Had Sarah
cleaned herroom? B : No, she had not cleaned it.
(5) A :Had Sarah paid the gas bill? B : No, she had
not paid it. (6) A : Had Sarah done the ironing?
B :Yes, she had done it.

—

O 0745 @ZHE @ ZH © Zn

2 have been to : ~of 7} 2 ={0| ct

3 3 Al MRE SRIK| 492 sln 222 have been -ing
o| Sirfetz TSSO LIEFHCY,

4 ZAl S0iZF AR R 3H0| o HA AEgieo2 Thad
+IHEALE LIEHACE

5 OJ2H ot W7IX|2) HES LIENNDZ Dj2it= AIKIS MOF SICH

6 ® °=At whene sixjtaet s Mx| 2522 have you

seeng did you see2 13ICt,

7 have gone to : ~0fl 7t HZCH (T24M o470f| gich)
8 7122 2= 20| tigt SHS Ftect



10
11
12
13
14

15
16

17
18

since’l Y=

mofsict

have gone to : ~0il 7} HCKI2HA XIZ 0470l SiCh)

have been to : ~o0f 7} 2 =o| ct

Qe Tz Zat 88 L= 2= 8

sixfet=zol A 8

@ ago7t Ueoz 1A (— finished) @ knowe ZIY 2
7t SAt (= has known) @ 2t7{&t20|22 (— had never

seen) ® O]2§2=0|22 (— will have prepared)

Stz 7‘._@”% 25 FIA)RH XIS st @

Ao RARER 3P AHZ, FE2 Rtz AM2

) ULt SEL
sisio= @ are= have beeno| Eofof Sict,
IAHRE] SRIIXIQ] HEL S22 LIEMACE have been to :
~0il 7t & 0| et (8E)

o

ASS LIEHE Sixftzz B3sict
3] | GIHER =0[Z20IM AZ Q= =017|7E MY ZOfiCt,

=
==
JOEX| 4271 o2iE2 e 91 HIES X2 sIX[2t o222
S0[7|7E &717] w20l 201 chall HIZS HCh 02122 11 =0
7I750| O{E7| ZiSah=X| SZsHTt 20| U=71?
d8g LEl= SixiEol o|220|22 THave you ever+it
HHZ2AL ~7,9| 0jEC 2 HiFESICE

19~20] stiA | 7420| CHA| S0KHT OfHoll= BRIGMCH GiED} 712
%_, 1 S850| thER9 AES 0[0] Ho{HE! 20Ut 1 E7|
2 Hi7F DECE o2t F, S0ISE DRPIXIRC X0 AS
1= HH7} DT O Mol Q= RE S2ES0| Hi7F nFic)
19 720l 27| Hofl ojo| 92 Zo|22 npHAZR(had+IHEANZ
HESISITY
20

M

2]

22

LE I @= *iRet 3, SM0ISE ORDIXIZCE 2k K022
H|Z

=3 )
Tt Ey i 71E HiE
4710 XS SHIZ AKIE ALS5t] 25 248 48
3702l 2EES SHIZ AKIE ALE5t0] 2tAIE, 33
Accuracy 21| 2E2 SHIZ AIMIE AF8510] 2Hdgl 23
171 22 SHIE ANIE AF8a10] 2Hdgl 13
SHIE AKIE ArE5t0] 245t 220 82, o0&
] M 7= HiE
5749| ChEtE 25 2haEl 58
4749| thalE kg 43
3702 thatE 2tAdEh 3

Fluency -
2712 th3tE et 2d
17H2] CHEtE gt 13
245t st Qi (0]
EHYO 7Tt S 58
EHAO BT~ UB. s)
Accuracy e 2873 US. 33
=Y 2R US. 13
= 2F 757 014 UB. [075]

R

Unit 14 | p. 53

A 1.was chosen 2.stole 3.is being fixed
4. can be seen

A-1 are being built

B1
3. will be arrested

c1.
2.The room has not been cleaned by them.
3. Abirthday cake is being baked by Kelly.

4. Alot of our household waste can be recycled (by us).

.was killed 2.was found

Her first novel has been finished by Mary.

D1.® 2.3
_ 1. %0{2! Johno| MEHgl= £59| ojojo|ct,
2. 02l Somebody7t Exl= 52| 2jojo|ct.
3. TI8l3 +5El : beSAHbeing + T7{2A}
4. 0101 B2 HEO| Hol= 52| ojojo|ct,
_ 1. 3 be SAH-ZARAL
2. found-founded-founded (&&5ICh MI<CH

find—found —found (&Z45iCh

3. ZEAH+be +2HEAL
1, 2. SxHZ +56 - have[has]l+been +Ii42A}
3. TI8lE +SEl : beSAHbeing+niA2At
4. ZENC| $ZE : ZEAH+be + 2IHRAL
1. ZEM| £EEHE ZEALFH0| "Tbe +THRALES £Ct
2. 78 AlMIQ SSE= "TbeSAt+being + HRAL S| HEZ
#ct
Unit 15 | p. 55

A 1.seen breaking 2.be heard to sing
3. made to laugh

B®

B-1®

C 1.wasgivenabox  2.are madetowear

D 1. were given (to) her by her husband, was given
the shoes by her husband
2. was given (to) him by a waiter, was given the
food by a waiter
3.1was made to return the money by him.

4. He will be elected president by them.



A_ 1. X2SAS] SXAR0R MOl HIHRARS SSEHOIA HER7H HIF
X| Q4L
2, 3. RZISARLt ARISAt make 2l SHZHO0R Mol HHLTAL
= SSEH0A to RRARR HHRIC,
B_ AliSAt makeo| SMZE02 Mol HHRHA= SSEH STOIM
toRHALR HHFICE
C_ 1. 434 280 £58 : beSAH+given + ZHSH0]
2. 5 A 23| £FE - beSAHmade(AIESAN+to S ™A
D_ 1,2 givert U= 48 2HOIME ZHSHOIE F0I2 5= 28
Elf 2014 ZFIZH0| Y0 toS MXILH Mats17 | BiCt
3. AliSAt make 7t QU 5 A 250| SEEHOAE SHAH0I
© §IHSHAto REALR HHPICH

o
4. oA 2E2 EX0E F0{2 sk +SEIR HEE 4 U1, ofu

R T p. 58

01 predict — be predicted 02 laughed — laughed
at 03 with 04 will be taken care of (by us)
05 were bought for her children 06 be seen 07 ®
08@ 09@ 10@ 11@ 12@ 13@ 14 were
given (to) 15 (A) from (B) are added 16 ®
17 A letter has to be written 18 The woman’s
portrait has been painted 19® 20Q 21®

22 (1) When some water was given (to) the
dog by her (2) When the dog was given some water
by her 23 (3) wants to see The Lord of the Rings
(4) was directed by Peter Jackson (5) wants to read
Harry Potter (6) was written by J. K. Rowling
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| ASAS| 458 TRE ESAH+be + AL ALt
1 SAT laugh at(~5 HIRCHS SHLte| SAIZ FFEiCt
i 3 be covered with : ~2 o ct
l be filled with : ~2 715 xict
i SSH 20N SALE SiLte] SAAE Zsstct,
| buys HSH0IE F0I2 sl +SEHOIM ZREEX0] Yol for
| 2 Mt ALt

| 06 zBAlel +8EH= can+be +2HRALE e,
i 07 be known to : ~oilAil Z&4xIct be known for : ~2 st
|

|

|

|

|

|
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[, ¢

ct, be known by : ~o2 mttzict

8 MAZEY S+SEi= Thavelhas]+been+2EALZ 2L}

9 AISAF make Q| SXZEO0Q! FHBEHAE SSH 2EOIA to
AR HipCE

10 SxjzIESo| £=¢l - beEAt+being +TARAL

11 @ =SAt 5ol SM77H 2 858 2822 should be turned
off2 Mo} it

12 The story7t AM2tg ot 21 Itk £59| ojnjo|22 S|t
2 45t has been lovedZ Mo} it

13 @ #0f It0] begino| FA7} El= Lo|O2 SSEHZ Mok &
was begun — began

14 =H=X07L FOI2 L2 458 2R0Z 7IHEX0| 2ol FMR|At
toe Mk 4 Qlok

15 (A) be made from+&= : ~2 PHS0{X|ct
(B) ‘F7i=l= 0l2k= 50| =lofof SHE2 59| A

16 &tz 2=ef= Thavelhas]+been +oA=ALZ LIERACE

17 aletterg F0i2 sl St 2%0|0, ZSAt have tog has
to2 HHL= Ziofl Rttt

18 #xiet2s s=ei= Thavelhas]+been+Ii7{2ALE 2ot

19 ZSAle| £SEl= "E2SAt+ be+IIHEAL Q| FEHZ LIEHHTE
@® eat — eaten @ cleaning — cleaned ® broke —
broken @ been — be

20~21] siiM | 3t= 28l 2E5P| et 79| o] sl w2
0[0F7|7F Ut 1935'H2] Ol ', 7HE2 TI{EA U201 27

Unit 16 | p. 57

A1l® 2.6 3.@
B 1. broken into 2.taken care of

-

3.runover 4. picked up =

cCo®
D 1.Iwas surprised at the news.
2. Mary was interested in soccer.

3.Tony was looked after by his brother.

A_ 1.befilled with : ~22 7|5 zict
2. be known for : ~o2 QH5IC}
3. be surprised at : ~0i =2iCt
B_ SSEiZ 4SEIZ HH2 O SALE SHLO| SARRE £ZSich
C_ bemarried to : ~of ZASsic}
D 1, 2. surprise, interest 52 45t 2=loM by 0[2/e| Fx|
At(at, in)Z AtEsiCt
3. look after= +SE{Z 2= f SiLI| SAIZ FFSICH
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21

22

THolA & 2ol BHCH= %S SUCH
282 1 2701 TN R 71HOR 281RIS KKk 2HS0]

o oil =E7H SRICE O FAolE 22HOZ 209 EE A
AKACL,

274 2K50] 8 2ol sl sRCt ez, I oo 7E50] Bt
Y = FX}7tHo= 20HE H o[ S0i710f BiCk

F0Q TEADE R HE0|2E £SEiE Mo SiH, FEC

SAPL 20|22 beSAk= 117 A2 £ct

sHA1 | 47t Fofl S0te 2ol Jds =2 it 82 3ot 21
QU= A2 ok 27 3 oAl el 22 FUS o, 249 @
el FXh= 202 HHHRIT xR Witn UQACH J2{1 LM 3
e § 0l0] ZECE Fo7t = RS BT E oA A4zt
E2 FUCL Olx| a9 2xk= o= WD ENUXMY Yt

ct.

lo

3
£Q

)

22

23

T+ EY i 71z EHE
o] +SENE BF 2t 43
Fluency 17| £SEHS 2tAEE 2d
2 2T0| elS. 0d
Mo 227t gl 48
Accuracy ibe%AHJ'—W—E—)\hEI TAE= 2RIt gleLt 33
HRILE AR 277t S,
beSAtH+IARAL S| AX0H| 237t QLS. 0d
7t EA SRS HHE
4740 BHE 2 ANF, 48
379 22 2t 3
Fluency 2712 22 2MEL 23
17He] 2ES 28 13
245t 270] gl 08
Mo 227t gl 4
2HMC 227 US. 3
Accuracy | 2#A0| 227} 271 US. 23
2/ 2RI S, 13
2/ R4 014 UAS. 0H

B had better not+SAIRIE : ~51X| 2= 7

Chapter U7 | ZZA}

unit17| Practice Test
A 1.must  2.havelneed]to  3.cannot
B 1. will be able to 2. will have to, had to
C 1. LH7t of7]0l| 7HLE SOl ELR?

2. d= 470 =015 e 4 QlCk

3. = AIE ot JUEX|E ZEL,

st
=X
4. U= ol IS 22 zH= Lsiiil= 2F =,
=
g

p. 63

|:||0 I

(=}
=
[e]]
NEY)
C-11. L= ZEE Al
2. 7= E2gi0] 1

D@

1. must : ~oil SZUCHLE F2)

2.don’t have to : ~& 27} gitt(=don’t need to, =SAt

need not)
3. cannot be : ~ 2|7} giCHZst BHE £5)
1. ZSAIE 5 7 LI2E| £ 4 ¢lu can? 0]2f&0] gleBz be

able to= HPY 2Lt
2. muste 0[20olLt HA4Z0| gle=2 have toZ HHY AIME
HHSICE
. can : ~ali= ECH(s{2f2 2|o])
.can : ~& 2 lCHsE2| o))
. may : ~YX|E BECHUS FE0| o))
. must not : ~aiM= o EICHSX|)
will can2 £ 4 1222 cang be able to2 X £t

A WODN =

unit18| Practice Test

A 1.have —had 2.drinking —drink
3. living —live 4. would —used to

B®

C 1.would rather, than

C-1 had better not

D1.G® 2.@

p. 65

2.usedto

~5h= 0| %t had better

~5IX| ¢= 20| Wt had better not+SARIE
. Xl2f2| ~5H= Ho| WLt would rather+SArE
. used to : ~OIACKztH2| AEH)

Non e

| =t



3 Q=0 Bx| Rt ooz mLS0| SRLICY 2l= HES0|
2 4 Ut forages : 2UZH
must have +TAEAL : 3 AR CHEH 25t £=
4 should not have+IIH2At: ~5IX| LU0} FH=r] (AFS

C_ 1.wouldrather ~ than... : ---8l=L] xf2f2| ~3h= A KT}
2. usedto: ~sk2 aﬁEf(LMEI &)
D 1.had better : ~&f= Zi0| Z3ckEn
2. would rather : xf2f2| ~5h= Al JTHMEL)

i

~3iCh
5 used to+SAIRE : ~5HE FHCHREAS —L*Oll—f )
6 @2 mayt 32te| ojn|, LIMXl= st £&2| ojujo|ct,
7 shoulde ~8l= 20| Z7cf £ =8t 19| £0| UCh E5

'should have+ItH2ALE ~3lofoF J=dl 2t S£o2 oA
AREOl| CHEH 23IE LIEHHCE,

8 would rather A than B : Bsl=L| xf2t2] Asizict

9 A | L= OI7IM E742 AIIS 2l Qof. HE of7jof 9t
0f0f =D, X0l L= SSR01| 2401, 7H7|M Lis FYet
£ UX|T S = 4 ARAO|. Lt TLER| ARRIS EAN, L
= CI2 30| O ARIE2 & & US 7o}, =251 HollA| &
SHA,
(A) He o=l gtofof gt=d|. (should have +2iA=AN
(B) U= ot Fo IHES 2 4 S 7ok (may ~Yx|x =2

unit19| Practice Test p. 67

A 1.study — studied 2.be —been
3. has —have

B1.O® 2.0@

C 1. should not have eaten 2. cannot have read
3. must have practiced

D®@
Ct: o5t 55
sliAd | “SOMHX|, off EoMHX|2| S a2 |YstHR?”
A 1.should have +2t7{=2A} : ~3Hofof FiCt 10 “L]ﬂokHLfl 5 :Hx:’_“i :L;Hz_lr_l A ofl_|a|;4;}l|r0| 7ot
e = B AKIS k= A=ES
2. may have+7{2At: ~HEX|= 22Ct JEI°J;f“ T —— ,:._ Bl T EIS HAMK| 145]
3. must have+aizizAt: ~3S0| 23l O}HH};}O:L_ S0{ A K|—E}0-| L= 73 01|;| LHEolAHgTerj_;:l Ayl;
B_ 1. 2t 3| 24 Uof thet 33 : should have+a74sAt == ““I“?
) 2 HWEICE 0 TOA ARs 22 1 7|50t 81 A= Z0[U0],
=A = SARIES Mof BT
C_ 1. should not have+ZiAiAl : ~3ix] isiofot sickad apy | 10 Z5 used to siols SIS ot sick

11 2xI2| ofx|7t SotHX|2| Zofld XIRtCHD o, 8XI7F 2R0]
M XRtChe HZ2 gict

T CH BA

12 must have p.p. : ~320] S&ieict

off thet =5l)
2. cannot have+atA2AL : ~3iS 2|7} KA ARdof it 2

B YT £5)

T =
) ) 13 ==At can2 will be able to2 0[zHS LIEHCE
3. must have+atHEA . ~gH30f| ERIYCHTIA ARl st Z © =
HFH) [ N2 | )
D 7] ARof| st oFst 2= - may have+Ii{2A

2 PN | y THZA 14 #iae 7= B
i 2HE SHIZ BHE AMSsi 25 g, 33
2702 2EE SHIE BTIS AR8sI0] 2tAg 23

Accuracy — —
171 2 SHIZ B33 A0 A8 13
SHIZ HHS AIBSI0] 2t45H 2X0| gis. 0d

Review Test p. 68
1@ 02@ 03®@ 04® 05playing — play

06 Q 07 should 08 would rather, than

09 (A) should B)may 10® 11® 12 must

13 will be able to get the results soon

14 (2) have to (3) should have been

(4) must have been

1 would rather not : xf2t2| ~slx| e27ict

|
|
|
|
|
:
|
|
|
|
|
|
|
|
|
:
|
|
|
|
:
|
|
|
|
|
|
|
|
|
:
|
|
|
|
:
i
|
. 0t ARAof gt 2t =5 - must have+at7{2At |
|
|
|
|
|
|
|
|
|
|
:
|
|
|
|
|
|
|
|
|
|
|
|
|
|
:
|
|
|
|
|
|
|
|
|
i
|
2 should have +T74EA} : T ARMO| ChE 53 |



Chapter 08 | 7&H

Unit 20 | p. 73
A 1.were, could 2. had, would

3. would have played, had been
B 1.werelLtwas 2. had

3. would not have made
C1.W7tHetd 2. L7t Eala] LatX| ket
C-1 47t & o ZelRiC2tH
D 1. had not rained

2.she werel[was], could propose

1,2 7Pé§t” I ¢ If+F0HSAR] T, FOHES.
AR (EI AHEO]| BTl LS TH)

[

3.7 }o.ﬁ AR @ If+=0tthad+IARAL FoHESALS] 2

+thave+IA2A I Ardof Biti=l= US 7h)
1. 719 E.L.*I_'I-H if20IM beSAks Q1%

2.7 fﬁ

3. 7Hd
A7t 2o ettt

7P oAt 7P DAL 0N if7t Ak

=t

1. 2HA ARol| BHohEl= 7PH0I=22 71 B{2tES MO BiCh

2. BxH Aredofl Bith=l= 7HE0|22 7HEE 1S Mok Stk

Ol /201Ut 07}k 1918 B4 U= wasS 47| Bict,

170|122 SAIL| 0] 2fof BiCt,
EH

Unit 21 | p. 75
A 1. were 2.had bought 3.were

4.had been 5.would 6. would have failed
B 1. werelwas]  2.had

C 1. could have sent 2. Without
C-1had been

D 1. can —could 2. knew — had known

AR2| IS+

20l 2AISI0| wereE M

IARAZ0[22 FH| "ESALS| T +have +242

F0i2t SAEER|

. SR ARM T} Rl AT | wish +7 PR ot
. P ARt EiElE AT | wish + 718 ap7ietz

. SR ARATFHHCH - as if +7 RS 1kA

.foralong time22 2ot 0} ApAln} B : 7PE p{eta
, 6. but foret without CHSoll= 7PEE TAESAR| 2pASH+
SARYLE IARR(ESALS] 1S +have+p.p.)7H =2Ct
.l wish+7pE 0k : SR ARol| CHE! OF2 2

2. 371 ARHof ch$t BichE LIEHHER 3s if Ch3ole Thad+akA

a M WON =

-

2AL7E2CE
1K AR ¢ If+F0{+had +2HRAL FO{+ESALS| Tt
& +have +IHEA
2. without2 738 tHAZL S84 M0 ~0| AT 2 2|
OIS LIErHTE,

1. 718 34 - 0| TRSARS] AAZHSAIR, 0] 2Lt
2.then(a m)o| Y282 as if+7HEY Hr{&R(as if + 30
+had +72AN7} 2fok Stk

R T p. 76

01 had had, could have taken 02 Without 03 had
chosen O4were 05@ 06@ 07@ 08® 09®
10® 11® 12Had you arrived late, you couldn’t
13@® 14 had been
15 would not have made 16 he werelwaslangry
withher 17could 18@ 19were 20@

21 (1) If | studied medicine, | would become
a doctor.

have taken the plane.

(2) If | became a doctor, | would work for
(3) If l worked for
Doctors Without Borders, | would travel around the

Doctors Without Borders.
world. (4) If I traveled around the world, | would
treat sick people in other countries.

22 (2) If | had taken medicine, | would have felt

better. (3) | could go to see a doctor
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thenez =ot 7P ni=0[ct =722 Thad +272AL
2 FEe Tcould have +IHHEALZ LIERACE

If it had not been for = Without, But for

t7{(at that time 2ol 5tx| 5t Loil chst oSS HEoiE
= T wish+7F88 a4tz 2 LIERACE

7P 0ol 2™ SA beSAIY AL were[was]Zt 2Lt
ZFH0| 7P 10|22 ZAFIE were[was]Zh S
ZX9| could win2Z Ho} 7P nfr{=2 LIEFHCE,

Z39o| would you doZ Hot 7FyH 1t7{ 28022 xZiZo
= SAte| a7 2fof Bt

® can — could @ was — had been ©@ have — had
@ worked — had worked

@ ZF=o| 7P 1t=0/22 have told — had told
THACIRIH o2 =Hot 2fA ArMo| BhiEls A%0|22 T wish+
7V BfRtE 2 LIEfHCE

as if+7Fe 1A

IfS M2F51H =5AF had2t 0{ you7t E=XIECt
ZHo| would beZ ot S ARMo| Bilgl= LS
7148 1740|122 @ don’t use — didn’t use
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sict,

HE),0|122 beSAk= were

|'7é! Qlx|

A
T M

of%ict L7F 3
XM AR S

ikl Z2

0
=3
==

AxZ), 20|22 Z=At cang

=
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Chapter 09 | ZHA|A} Unit 23 | p. 83
A 1. which 2. whom 3. which 4. who
Unit 22 | p. 81
5. whose
Al.who  2.whose  3.what 4. which B1.to 2.about 3.to 4.from 5.for
5.that

C 1. which —in which E= live —livein 2. whom
— about[to, withlwhom E= talked — talked
aboutlto, with] 3. that — which E= at that the
child can type — that the child can type at

B 1.which —wholthat]  2.is—are  3.carrying
—carried 4. The thing what — What %= what
— whichlthat]

B-1 have —has

C 1. Lil OHHX|= OHN7} RES 7101 FIL7H QUCE
2. Lojop 2t ZX0IN S2= 22 4710 2 S+2RE 2Lt
3. L7 HoH Tl W2FHH 1 A K= ZRA0|| BRISHK[ZI0| &t
4. U7} oks A2 25 O U2 EUli= Zolct

D 1. silent, which made me more upset 2. in which
this letter came === which this letter came in

A_ 1. M8liAl= (it would be done by March)olct,

2. A= Molly 2 seeno| SX0f FES St BAICHHALL 9
D 1.whose mother tongue is not English. o sich
2.You must always try to do what is right. 3. MaiAb= Bristol
4. M#AL=Sam
A 1. NSAIEARIQ! 224 THAICHEAL 5. AR BAHHARSAL
2. MBHAZF AJRIOI ASZ TIA(CHBIAL B 1.Hebelongsto the club.
3. MsiAIE Tt ZIA|CHRAL 2. | have never thought about the subject.
4, 5. MBHAIZF AF201 S2RZ4 B CHAL 3. You should send your résumé to the teacher.
B 1. M3iA} AlO|2E BACHAF wholthat]}= Mo} Bich, 4. Rap music came from the place.
2. who7t 0j11= ZHACHHARRS| 2Al2 BH= Z0f The people 5. She paid quite a lot for the new car.
1. I'live in the town.
3. ‘SX|0A HICIZ QLS Ma|7|S 0|at= 2£9| oojo|=& 2. Mr. Lee has talked about[to, with]the student.
(which are) carried 7} =lofof St} 3. ZAIUHAF that2 XA Fofl & 4= gic,
4. what2 MiAIE Z3H51T QL= TAICHHAI|D 2 MaHAL the D 1. 2cigAl whiche 9 2% FHS et
thingzt &7 £ 4 gict, 2. Fx|AHin2 BAEAL which YoILt 222 Foil £ 4 UCt
C_ 1. whose2| M3lAl=a friendolct,
2. that flows over Niagara Falls7t +4I5H= The water7t
%01, comes7} SAO|ct,
3. which | visited ten years ago7t +Al5H= The city7t &
01, had 7t SAtolct,
4. What | want7t 012, MAIE Z3l5Hs ZAHBA what2 Unit 24 | p. 85

‘~h= 24 0|2k sHAISITY
D . AR HACHEARTAL

A 1. where 2. how 3. why 4. day
B 1.the way 2. thetime 3.thereason

2. ~sl= 0 0l2k1 sAlshs MBALS ZEtSH 2 At whatS 4. the place
25101 2R o= i =
OI8aI0Y 2HS BHE C 1. the wayLt how & stLfgt £t 2. in A E=

where —which 3. on A& &= when —which
C-1 which —why E= for which
D 1. The playground where | used to play

2.the day when the Korean War broke out
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B_ 1. U7t ol RIS EE W 2| 0|5 LIEHHE MaAp TRstct

R T p. 88

11 "AS7 ZUBEA whose + BAH-SAL Q| 0f&0= 2t

12 "HXAHEAZALE BHARME HEE 4 ULt

13 EHAIHZAL that Yoll= FANE & 4 Qich

14 His new car, Violent filmsE M3AIZ BromA FR|AL Fof|
2 4 9= A= whicholch he paid $45,000 for
his new car, many people are hurt or killed in
violent films

15~16] A | Al yf af= Clol2 S8 of 030 2XS |
SELIIR S tds £ Lol E
POIEIOBP Tse 71l ghlnt #

59| FHoxol oto|C|otE SMO| E[A| FLict el

*%‘ﬂ%oil thet 22 0[0p7|E A2 50| XRMQ| siZ 0]l 0f

4. Whoever 5. whenever
C1.®@ 2.0 3.0 40
D 1. However hard you may try

2. Whoever visits the website

A_ 1.atanytime (when) = whenever
2. no matter what = whatever
B 1.whatever happens : 22 20| Lo{LIEX|
2. however cold it is : 0}22| FU=
3, 4. whoever(= anyone who) : ~t= A2 £7EX|
5. whenever(= at any time when): ~&t = HHEX]|
C_ 1.nomatter who they are

AL GxRIVI2? HEIE
2 BE AldSYuch a2t

o nt rjo
2 o
_|_
o

fl

T

|
|
2. AR A when 0|22 AZFS L= M3AL eIt i 01 02@ 03@ 043 05® 06which
3. ZAEA why 0|22 0|92 LIEHL= M3liAL ZRsIT |
42 J-+71:_'$'_A:whzréo|ilx¢§} l-}H!H-HEt r:mu.cl; zq i 07 why 08 ® 09 Ididn’t like how he treated me.
C_ 1.the wayethows 20| £ 4 217 S 5 sfLigt &r}, i 10 Whatever 11 whose brother is a baker
2, 3. ZHEA=FIX A H-ZEA CHEAL ! 12 where — which E= in A 13 that — which
D_ 1. %o{7tthe playgroundo|m #ARA where7t 0|1 o i 14which 15@ 16® 17@ 18® 19®
SAIS k=t | 20recording
2. 20{7t the dayolz EAIEAF wheno] 0|11= =o| the day i 21 (1) Wherever you go  (2) However hard |
E AEi i (may) study (3) Whatever you say (4) Whenever |
i goout (5) However cold it is === However cold it
i may be
i 22 (1) the day when they are supposed to have the
| meeting (2) the place where they will have the
i meeting (3) the reason why they are going to have
i the meeting
i
i 1 MSAZE ARZIOIHA =201 AN AL Lodct,
|02 2R KA how TS AL the way7t 22,
|03 MEAE TSN SR Fo| HBL s BS olnoz 2
| A whatol 2ieict
|04 S ZEstR 4 BAHRA0I92 @ whom — who
1 05 ©@= o2AL Lixls BAICIEAE MQl whatolct,
i 6 Aax 2Yol MAIZAL which7t o 22 MAIS MAIZ W=
1 Zolct,
Unit 25| 0,87 i 7 M3APtthe reason0|22 EARAL why 7} 2gict,
08 wApt the day, the placeol=2 242t Alzkat HAS LI
A 1. whenever 2. Whatever ! = ZE AR} gt
A-1 However fast he ran |09 w2 L= 27IAL hows the way2} 871 2 4 gick
B 1. whatever 2. however 3. whoever i 10 ‘W7t 22 U2 s1EX[ = whatever you doOlct,
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
- i G| ME=K] HIFEML, AIZfGHEAICH
2.Nomatter how hungry you may be |15 ampise must ARIS0jEKE L Sol T2l IS ofolciof
2' 20 matt_erWhEt ' Gl"f’ e o | = B2 HRRCE Bl LIRO] OlofXi= 20| XIHARICE
. At any time when | find myself in trouble ‘ - _
1 L@, D= TS :

2. 70|22 "'whoever+sAH-S%04,9] o



17

18

19~20

19

20

i1 | LiolAl= oiSA0] ot = HE1 ReiC
Al sk= 2301 8t 7EX] QUCE dlde= W RS Y=
A7 MEY f =2 BAEAE whichLt thatS 2ot M
8iAl7} one thing22 AtS0|22 @ thato| XES|CE

on the day= ARIS 7217|122 0|2 BARAL whenoz iR
F, M3ARI the day FIZ EU 222 HZsICt

s | H7l2EE Eol Qe mRRIE E/ch JH2 st &
20 RAUCEL = T HAXIE SRIB[ACEL OR2 210N
1t HOlAMSE] CH il MO|
Ct Oi2l= JOkM CHA| QAU = mRfel= 5 7H2| MS ChA &
Qlsta (6, 4)2t ACh oA Aoz 1= ma|7t O
A 71234t

0| It2 the spotg 7l2l7l= tiEA|H, BIZiol= 202 ~5t
= R 0lzk= Ho| S0{7tof st22 FAE LiEH= ZARAL
where7 gict

Tkeep+SHAl (A& ~sich, TLR0|22 SAl records £
ALZ MOF it
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ot 372
X A=

MES )
21 ®ige [mEsE i
570l 23S oF 2N 5%
who 23S 2N e
Hueney | VI EREEEE 3
2le] 2x2 2tE 25
1l 252 s 1=
AN 2F0| S 0z
2y 927t 8IS 5%
20| 92T US. e
Accuracy Al @271 271 Q2. 33
20| 2271 3 US. 25
Seino| 027t A7) O US 0z
22 iz [mEvE i
32H0| HlojSS 25 HEE 3
fueney | 22SIEOISS HEe P
12HIo] HoiS2 B3 =
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Chapter! O | H|: 15

A

unit2s | Practice Test
A 1. more polluted 2.cheapest

p. 93
3. modern

4. Diana’s (dress) 5. of

B1.T 2T 3.F 4F
C1.0® 2.0

D 1. more, than

2.not, fast  3.tallest of

. HlmZ+than

. the+z|4Z+in+&4

. gSH|n : less+®F+than

. i ci&2 Mary’s dress2t Diana’s dressolct,

. the+zl&Z+of +H|1 LHM(ES)

. not Alx|

.asold as —olderthan

. latest : ZIZo[ (AIZh) last : OtX|2H2| (&=A) @ — the last

.the +2|4Z+in+&4, HlmZo| 22{H Fofl "than +H| h
40| 2tof stk @ —the most famous

. Aless+&2+than B=B H|luZ+than A

2. 3 8|wo| B : not+as[so]+&=Z+as

3. DlLi7t 0] AnnELtH S22 A SolM 71 3c,

N = ~NWOaMNOWDN =

_

unit27| Practice Test p. 95
Al.plays  2.thefastest  3.is
4. the highest, higher
B 1.best 2.smarter
c®
D 1. better, any other 2.No, more

A 1,3.0ne of the + HNZ+ELTA} 1 4R ~&F - B SILHES

=)

2. the + |42+ 3At(+that)+F0{+have ever+1i7{2At : x|
SIK| ~t XA SOIM THE -

4. "H|mZ+than any other+&4BALE 2432 20|



B 1. the+ZAZ+3A (+that)+ 0l +have ever+ 7=t

2. B¥Z0{+as+@Z+as = HlmZ+than any other +H4+%

Ab(zleEel <o)

C_ oneofthe+ZAZ+243A: PR ~5t - 5 SILHES

(@ area — areas
D the+x43 =tH|lmZ+than any other+E-BAt

= 28%0{+t|wF+than

Unit 28 | p. 97
A 1. possible 2. better 3. muchleven, far, a
lot, still]

B 1. more and more 2.as possible
C 1.The higher, the more
3. more and more polluted

2. as loudly as

C-11.twice as many CDs as
2.The younger, the easier

D 1.the more impatient he became
2. half as much money as

.as+gZ+as possible : 7H53t 5t ~5H5IA]

.the +H|nZ, the +H|uZ: ~6lH &2 BHE o -t
. HlwZE ZZ5k= much, even, far, a lot, still

. HlmZ+and +H|mZ : M™ o ~&t

. as+&Z+as possible

the+H|2g ~, the +H|wF - : ~51H &2 ¢ -5t
. as+gZ+as possible : 7kt ot ~HGHA]
.more and more+&=: ™ ¢ ~5t

The +H|ZZ+F0{+SAt the +H|RZ+F0{+SA}

. ti==Abhalf)+as +SEAt 2+ A as

o
N =2 WN =N =W S

R T p. 98

01well 02anyother 03® 04The more, the
more 05@ 06® 07@ 08® 09@ 10 (1) last
(2) latter 11 @, @ 12 @ 13 deeper and deeper,
colder and colder 14 as, as,can 15 ® 16 twice
17 easier 18 popular 19 The higher, the more 20 @
21 (1) tallerthan (2) astallas (3) taller
than any other player (4) the tallest (player) of the
five 22 (2) No one spends more time playing

computer games than Ann.
time reading books than Bill.

(3) Mike spends more
(4) He spends less

time playing computer games than reading books.

1 27t 24niE oHANE K| ReicHe oojs #3 Hlw(hot
~ as[so]+&#=+as)= LIEHHL],
2 HlmZ+than any other+EHBALE ZAZ o0 BHSIC)
3 D~@= HZo| 71E FQsIck= oo, Gi= tieiel ojojo|ct,
4 the+t|ng, the+t|ng : ~olH S842 o2 o --5ict
5 @ HlmZ+and+H|zZ,0122 Much — More
6 the+zAZ+in+XA, attractive7t 38%0/22 most7t &
U]
7 HlzZ 2%0|=22 thano| Zesict
8 less+¥Z+than : ~2ct o 5t
9 @ "Wl Mzto] Lf HECH BN of ECio Azl of it Sges
‘171 ZEGHK| 220t = ofAlsic,
10 (1) ofxIat A : last bus (2) 34 : latter part
1T =™ o ~6lixick of 812 SAL become, get, grow St &
2 g melct
12 Time Jackert Loyt of #ooz @ Jack is not as old as
Tim.o| ct.
13 vlmZ+and+HZS : M o ~FH5HH]
14 as+fZ+as+30{+can : 7158t &~
15 =2ito] EiA] @30t MS9| EiA| 232 H|wske ZHol2E2 6
thoseltaxi fares] in Seoul2 TZICt
16 tizAl+as+gZ+as
17~18] slial | Gat 0l A= S AN RUTH T2iLE 718 2ol
AHES =22 MHS HiEMoZ H1 ¢ U2 A48 w7s
QUCH AL, QIEHIZ2 JS0| E7dst WS 220N CHE MRS
It 3RokeE W2 O S THECL ZOZ, FsiollM AE UHSkE
A2 2F iR tiE=0| ZRUC
17 easy= "xigty,2 EL= o022 yE i2 1X|1 -erg 29
ct
18 3ol A4S 3= A HYFD wWetM tEX0| EUCks 50|
XfHAL
19

20] s | =2 ol Y= SH= AROIUXIE JHEICH 27
O £0| 22242 322 of B2 ARHXIE 2 =i} o=

S50 fx[oHXlE 2S0lUX|Z HHEL S=0ls SXlE 230



XIS Zm Qo Ex7t o e SXULE EXl= o B2 25
olURIE 7HEICE

19 o ~842 o -3ifals 22 "thettlug ~, the+tlug
-, 92 LIEHHCE highol HlmZ2 higher, much9l Hlza2
moreo|ct,

20 =0| 7|7| 2ol thaikls AFEIX| UL,

N D
91 Wiz [muiE e
2ol 2aiE B el e

ol 2az #E B

Fluency | 27l 2aie et 25

17hol 2x2 2a e

ket 20| 912 ox

Y=Y e

2ui0l 9271 7h %S, e

Accuracy M ourgol ot vl U2, 2
Susel 9271 471 014 IS, 0%

09 wize |MuE e
ol 2 2, B

ool 2 eet 2x

Fluency ol ox e 1

e 20| 212 oz

Y 3

Suia0] 927 74 S, 25

Accuracy - Mougol ozt st 91, =
SEi0l 9271 374 014 2/, oz

Chapter 11| EZA}

@
WN = WN

unit29 | Practice Test p. 103
A 1.while  2.since  3.assoonas

A-1As

B 1.While  2.since 3.As  4.Assoonas
C1.® 20

D 1.assoon as, arrive home 2. have lived, since

A since: ~8t 0|52, while : ~8l1 U= Z©F as soonas: ~

SEXHOERE
B 1. ~&f= =0t while
2. ~0[242 : since
3. ~&lofl 2t : as
4. ~ SIXHOLXt: @s soon as
C_ 1. AlZte| AP0 M= D2 2Jo|2te S AIRIZ £t
2.since7t 0|1= A2 IHA AlM, FH2 SIIHAZ AIKIS 2Lt
D_ 1. ~5ixtatxk as soon as
2. since7t 0|11 BAPES 117 AR, AL SIXiRIE AMIS 20

unit30| Practice Test p. 105
A 1. or — nor == Neither — Either

get 3. When —Though, Eventhough &
2. Though

2. will get —
B 1. neither, nor 3. unless
4. while
C1.® 2.8 3@ 40
D 1. Neither I nor my parents
2. While, | don’t like

A 1. neitherAnorB:A= B&x Ofd

eitherAor B:AEBE & F 5iLt
. Zg LIEfUE BAFEOIAE SR AKI7H 0J2HE CHAISHCE
LHEAF Q0| TEADF LRSIt
. neitherAnorB
. though : H|Z ~&IX|at=(YH)
. unless : 2tk ~35tx| 2o®(= if ~ not)
4. while : ~ah= BHHO| (CHX)

C 1,2 eitherAorB:AEBE &5t

3.notonly Abutalso B: At otL|2t B= (Bol SAH Y%
4. neither Anor B: A= B= Of- (Boi| SAF LX)

)

D 1.A=Bzold:neitherAnorB

2. ~&h= 9 while(Thx)



Review Test p. 106

01® 02AlthoughlThoughl & 03If, doesn’t 04@
05@ 06 Unless, take 07not only, but also 08®
09® 10didn’t come —came 11® 12D 13®@
14® 15enjoying

16 (2) Either Tom or Ann can play (3) Both
Tom and Ann can swim (4) Not only Tom but also
Ann can speak (5) Neither Tom nor Ann can speak

cCUbhOWON—

O 00 N

10

11
12
13

QUEHO| EAREZ H|Z ~YUX[2IE = even though2 LIEFHTE
HIZ ~O0|XI2F 2| 20| Zh= LEO| FEAD YUt

if ~ not : ~5IX| P=CtH

‘~5t O[2H2 2h= SEO| AIZE TAADE Lalct

as soon as : ~ SiXiOtxt

If ~ not = Unless : unless ol 2o ojo|7t E0{Ue
Z notg MX| Y=E FOISiCE

not only A but also B=Baswellas A

unlesse Tt ~5ix| Z=CtH 9| 0|2 B= If2 1ok Sict
@ as if : O] ~Q1 ZXBECPS 42) @ 2Z Hlmof A
@ AIZH FEAL: ~3HHA @ 0IR2] FEA ® TIXIAH~EM)
neither A nor B& 1 X0l 22| onjg Z1 o9z not
2 MX| 9H=r}

either A or BO|22 norg or2 Tz,

®2 ~ H2ol, LHXl= ~t ol2h=" 2| SLolct,

either A or B 20| 0|2 MUS [ SAS Bt UX|AI70}
S22 heo| ¥X0{ Mot siCt @ take — takes

14~15] a4 | gale Hamol oisf oprf? s Zise o

HA UCH HIE B2 ARIS0| 10l thell 22X|2t O= Li2tE ¢

& =85t US Mt

rI

3

lis

52 1906 278 2ol EHO{RCE 71 24 40IUS 1 19|

OfHX|7} SOPHIT W2 Rits EZACh iUt J7t XHUOf RHAt

2 7KK §F Y2 dgs| S5t OX 28 &7|= il O st
=O| FALERI HESS AV |2 MEHRICE fUnt?

14 ‘w2 AR>S0l I8 Yx| Retrzlz 2= 2 Qf6l it Ug
ot 2h= 520| =0foF SIER, B4HES Olns YEO| HEAl
Though[Although]7t Z&5ict,

15 instead ofollA of= FXIAO|Z2 o SHAME Mok Sict ot
2tM enjoyingS2 Mot it

NEE] )
16 el |AETiE B
whol 2YE B ey 43

372 2EHE 2E 33

Fluency 271 Bag 2E 28

7Hel 2ES ek I

2B 2H0| i3, 0d

=EYe 277 glE. 43
ZEYC 2FITHIH US. 3y
Accuracy 2EYe 287271 S 23
ZEHO 2771374 US. 1
ZEY FTH 471 ol US. 0H

Chapter 12 | 2x|2} SHH

Unit31| Practice Test p- 111

A1l
5.

B1

are watching 2. makes 3.are 4.is
are

.are —is 2.are —is 3. stands — stand
c1.

Twenty minutes is 2.A,are

C-1The number, has

D1.

o
- N = W

[\:—\mg.\ww—\

@ 20

. My friends and = 24 33ttt
- to BT B4 FIFEICH
. half of+i¢m)\f+§—’.\~5&r

-s7HBE S2HE B HIBCL

. rthe+3c3%)\f = ~et MRS 2| ojn|2 =4 g St

. someone2 t FZ

SHAIE Making good friends &7t Fojz Mooz

B 33

. the rest of +2+YAH+ESEA

. &0{twenty minutese HU JHEOZ FZE|D2 T FF
.anumber of : #2 (&4 F3)

. 017t The resultso|x QIE{Slofl ATHEl= 20|22 S~SEfQ!

were introduced 7} 2ct,

. Tevery + AL E T FF

Metghsia 19



Unit 32 | p. 113
A 1.was 2.had 3. lived 4. discovered
A-1would come

B 1.was 2.would be 3. had arrived

C 1.He said he could bake a cake.

D 1. flew —flies

Unit 33 |
A1.Q

2.1thought that she had never been to Japan.
3. We learned that light travels faster than sound.
2.played —plays

1~3. FHo| AlM7t 27401H ZLHO| M= 2HA E= ap{tR0t

3=
8 4 9k

il

AN
H AM2 S B AlH|Z 220
| ARI7tH A2 BEPH SLE| AM|= St e A2 HH
E (@I — b, 37 — 3p2t=)

=

4.

[l

1,2. 20| AlM7t SRHoIA] 2R HHYP S| K= 3l —
oA, SRtz — P 2t=, 0 — aRE R HHRCE

SHO| Fl2|Lt TSRl AR S Bl AlM|= 220,

LHO|LE A2 S X K2 ERSHL

- =

—_

- 2ol SRIO|LE AME2 B AlM|Z EBIBICH

N
0

p. 115
2.0

B 1. (that) he had met Mary the day before

C 1. advised them to exercise

2. who will be his coach
2. told me not to

speak  3.iflwasreadyto go

D 1.1told him (that) he could stay there.

20

2. Mr. Kim said (that) he always walks to school.
3. Monica asked me whether[if] | loved her.
4. She asked her son to bring her his report card.

1. HMR0| s ©at: M= 289 0 |= MR 0 my
brotherolct @1 —he

2. R 20| sl M3t o2 AHF0{+SAL 2| 0f&0] EICt
@ could he —he could

1. AR s M2t 0| 20|22 RS-0 Mel 24A AlX
= &A= AM7HECE

2. |2Atwho7t 010|122 TO|2AH-SALL| 0fZ=0|Ct,

1. advise +2X0{+to R HAHZY HHR2| ZHdst)

2. tell+2x0{+not +to FHAHEE FHR| 7HsH)

3. ask +SH0{ +if +FO{+SAHARAP} gl Q222 ZHHSH)

2. Sixfo] SRS S SixY AlK|

3. 2APL gl ol2 20| s M3t ™ALt if[whether]S £Ct

4

. BEE| 3ty Tet: to R YAIZ LIEFHCE

R T p. 116
01® 02is 03® 04® 05had finished 06Q
07@ 08@ 09@ 10 iflwhether]lhe could swim
11 the day before 12 are —is 13 went — goes
14@ 15@are ®is 16 © 17@ 18®
19 could 20®

21 (1) to turn our cell phone off then

(2) not to make any noise there (3) what the main
point of that lesson was  (4) iflwhether]we had any

questions (5) we had done a good job

22 (1) Bill asked Mary how many pens she had then.

/ She said she had three pens.

(2) Bill told Mary

(that) his father had bought him a pet dog. / She
asked him what its name was. / He told her (that) its

name was Doogy.
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A1.did 2.do

B 1. Every, not 2. until

C 1.1twasjohn  2.an MP3 player that[which]
3. was at a shop that [where]

3. does

D 1.1didn’t learn English until | moved to America.
2. It was the flowers that she sent me.
D-1 Nobody likes a lazy person.
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15 (1) Billa doll in the restaurant

(2) at school thatlwhere]Susan gave Ann a cap

(3) It was, thatlwhich]Kate gave Mike in the street
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